f =1 % D
El

—X A

I

7\\[;_ F 5 — j|5 i ; 1] ,ﬁ\
ickTizzssk O© |58
OichTIRE2KELLHEL LT,
© ]+ 20 = 39 ® [] — 28 = 72
[1 =39 - 20 1= 72 + 28
@ [] — 45 = 45 @ [] X 3 = 36
[ ] = 90 ] = 12
® [ x 6 = 42 1+ 8 = 8
[] 42 + 6 [] 8 X 8
@[]+ 5 = 49 @ []+ 13 = 48
1= 9 X5 1= 48 — I3
[1 = 45 1= 35

00 o
5
|
00 &
+

27 54



25

1 [

29

Jo* OO

0ae

39

0O

50

= 50

25

72

= 72

10|

40

= 40

100

= |00

6l

25

29

39

HRER

U

L] [

00 &

L aw

50

= 50

64

63

= 63

50

= B0

100

| 42

= |42

1 19

50

= 50

25

23



